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These reference tables contain statistics of the total population and its absolute change of an imaginary 
country. This country has an initial population at 100 million people. Its population growth rate remains 
constant over time, but is different across the tables in this file. The absolute change of population in 
each year is calculated by divide the gap between the population of the year before and the year after. 
The graph beside each table shows the total population and the absolute change of the population 
over time. The x-axis is the absolute change while the y-axis is the total population. Each circle 
represents a certain year.

Readers can change the growth rate and see what happens to the graphs. Please see the notes in 
each table.
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Total population and its absolute change of an imaginary country, at a constant 2% growth per year, 1950-2020, (million people)

Source: An imaginary country. The data is created by starting with 100 million peole and adding 2% to that figure each year.
Constant growth rate:2%
Frequency: Yearly, End of period

Observation date Absolute change (million) Total population (million) Label
1950 2.0 100 1950
1951 2.0 102  
1952 2.1 104
1953 2.1 106
1954 2.1 108  
1955 2.2 110
1956 2.2 113  
1957 2.3 115
1958 2.3 117
1959 2.4 120
1960 2.4 122 1960
1961 2.5 124  
1962 2.5 127  
1963 2.6 129  
1964 2.6 132  
1965 2.7 135
1966 2.7 137
1967 2.8 140
1968 2.8 143  
1969 2.9 146
1970 2.9 149 1970
1971 3.0 152
1972 3.1 155
1973 3.1 158  
1974 3.2 161
1975 3.2 164
1976 3.3 167
1977 3.4 171  
1978 3.4 174
1979 3.5 178 1980
1980 3.6 181  
1981 3.7 185
1982 3.7 188  
1983 3.8 192
1984 3.9 196  
1985 4.0 200 *1985*
1986 4.0 204  
1987 4.1 208
1988 4.2 212
1989 4.3 216
1990 4.4 221 1990
1991 4.5 225  
1992 4.5 230  
1993 4.6 234  
1994 4.7 239  
1995 4.8 244  
1996 4.9 249
1997 5.0 254  
1998 5.1 259
1999 5.2 264
2000 5.3 269 2000
2001 5.4 275
2002 5.5 280
2003 5.7 286
2004 5.8 291
2005 5.9 297
2006 6.0 303 *2006*
2007 6.1 309
2008 6.2 315
2009 6.4 322  
2010 6.5 328 2010
2011 6.6 335
2012 6.8 341
2013 6.9 348
2014 7.0 355
2015 7.2 362 2015
2016 7.3 369
2017 7.5 377
2018 7.6 384
2019 7.8 392
2020 7.9 400 2020
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Absolute change: from the year before to year after, per year (millions)
<---slower growth faster growth--->

Population of an imaginary country 1950-2020
(always accelerating, at 2% growth per year)

In the 1950s, the population rose from 100 million people in 1950 to 120 milion people in 1959.
Each circle represents a year, and the total population in that year can be read from the vertical axis.

By 1985, when the population numbers reached 200 million people,
It was growing at 4 million a year. Each year by more people than before.

The size of growth can be read from the scale on the horizontal axis.

By the year 2000 there were 269 million 
people, growing at 5.3m a year.

Each year the population of this country grows by 2 more people for every 
100 who live there. That could result from 3 more being born and just 1 
dying for every 100 that are alive at anyone time. Or it could be the
result of 4 people arrviving for every 100 who live there each
year and only two leaving a year, while births and death
numbers are the same. A population with a growth
rate of this has a constant rate of acceleration.
The timeline is a straight line, but the space
beween circles gets wider and wider
as the number of people added
every year is ever greater in
number, but constant
as a proportion.
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Total population and its absolute change of an imaginary country, at a constant 5% growth per year, 1950-2020, (million people)

Source: An imaginary country. The data is created by starting with 100 million peole and adding 5% to that figure each year.
Constant growth rate:5%
Frequency: Yearly, End of period

Observation date Absolute change (million) Total population (million) Label
1950 5.0 100 1950
1951 5.1 105
1952 5.4 110
1953 5.7 116
1954 5.9 122
1955 6.2 128
1956 6.5 134
1957 6.9 141
1958 7.2 148
1959 7.6 155
1960 8.0 163 1960
1961 8.3 171
1962 8.8 180
1963 9.2 189
1964 9.7 198
1965 10.1 208
1966 10.7 218
1967 11.2 229
1968 11.7 241
1969 12.3 253
1970 13.0 265 1970
1971 13.6 279
1972 14.3 293
1973 15.0 307
1974 15.7 323
1975 16.5 339
1976 17.4 356
1977 18.2 373
1978 19.1 392
1979 20.1 412 1980
1980 21.1 432
1981 22.1 454
1982 23.3 476
1983 24.4 500 *1983*
1984 25.6 525
1985 26.9 552
1986 28.3 579
1987 29.7 608
1988 31.2 639
1989 32.7 670
1990 34.4 704 1990
1991 36.1 739
1992 37.9 776
1993 39.8 815
1994 41.8 856
1995 43.9 899
1996 46.0 943
1997 48.4 991
1998 50.8 1040
1999 53.3 1092
2000 56.0 1147 2000
2001 58.8 1204
2002 61.7 1264
2003 64.8 1327
2004 68.0 1394
2005 71.4 1464
2006 75.0 1537
2007 78.8 1614
2008 82.7 1694
2009 86.8 1779
2010 91.2 1868 2010
2011 95.7 1961
2012 100.5 2059
2013 105.5 2162
2014 110.8 2270
2015 116.4 2384 2015
2016 122.2 2503
2017 128.3 2628
2018 134.7 2760
2019 141.4 2898
2020 148.5 3043 2020
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Absolute change: from the year before to year after, per year (millions)
<---slower growth faster growth--->

Population of an imaginary country 1950-2020
(always accelerating, at 5% growth per year)

In the 1950s, the population rose from 100 million people in 1950 to 155 milion people in 1959.
Each circle represents a year, and the total population in that year can be read from the vertical axis.

By 1983, when the population numbers reached 500 million people,
It was growing at 24.4 million a year. Each year by more people than before.

The size of growth can be read from the scale on the horizontal axis.

Each year the population of this country grows by 5 more people for every 
100 who live there. That could result from 6 more being born and just 1 
dying for every 100 that are alive at anyone time. Or it could be the
result of 7 people arrviving for every 100 who live there each
year and only 2 leaving a year, while births and death
numbers are the same. A population with a growth
rate of this has a constant rate of acceleration.
The timeline is a straight line, but the space
beween circles gets wider and wider
as the number of people added
every year is ever greater in
number, but constant
as a proportion.
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Total population and its absolute change of an imaginary country, at a constant 2% growth per year, with a sudden increase of 100 million people in 2010, 1950-2020, (million people)

Source: An imaginary country. The data is created by starting with 100 million peole and adding 2% to that figure each year, and adding a extra 100 million people in 2010
Constant growth rate: 2%
Sudden increase year: 2010
Increase (million): 100
Frequency: Yearly, End of period

Observation date Absolute change (million) Total population (million) Sudden increase (millions)Label
1950 2.0 100 0
1951 2.0 102 0  
1952 2.1 104 0
1953 2.1 106 0
1954 2.1 108 0  
1955 2.2 110 0
1956 2.2 113 0  
1957 2.3 115 0
1958 2.3 117 0
1959 2.4 120 0
1960 2.4 122 0 1960
1961 2.5 124 0  
1962 2.5 127 0  
1963 2.6 129 0  
1964 2.6 132 0  
1965 2.7 135 0
1966 2.7 137 0
1967 2.8 140 0
1968 2.8 143 0  
1969 2.9 146 0
1970 2.9 149 0 1970
1971 3.0 152 0
1972 3.1 155 0
1973 3.1 158 0  
1974 3.2 161 0
1975 3.2 164 0
1976 3.3 167 0
1977 3.4 171 0  
1978 3.4 174 0
1979 3.5 178 0 1980
1980 3.6 181 0  
1981 3.7 185 0
1982 3.7 188 0  
1983 3.8 192 0
1984 3.9 196 0  
1985 4.0 200 0
1986 4.0 204 0  
1987 4.1 208 0
1988 4.2 212 0
1989 4.3 216 0
1990 4.4 221 0 1990
1991 4.5 225 0  
1992 4.5 230 0  
1993 4.6 234 0  
1994 4.7 239 0  
1995 4.8 244 0  
1996 4.9 249 0
1997 5.0 254 0  
1998 5.1 259 0
1999 5.2 264 0
2000 5.3 269 0 2000
2001 5.4 275 0
2002 5.5 280 0
2003 5.7 286 0
2004 5.8 291 0
2005 5.9 297 0
2006 6.0 303 0
2007 6.1 309 0
2008 6.2 315 0
2009 56.4 322 0  
2010 57.5 428 100 *2010*
2011 8.6 437 0
2012 8.8 445 0
2013 9.0 454 0
2014 9.2 463 0
2015 9.4 473 0 2015
2016 9.5 482 0
2017 9.7 492 0
2018 9.9 502 0
2019 10.1 512 0
2020 10.3 522 0 2020
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Absolute change: from the year before to year after, per year (millions)
<---slower growth faster growth--->

Population of an imaginary country 1950-2020
(at 2% growth per year, with sudden increase of 100 million in 2010)

In 2010, there is a sudden increase in population of 100 million, 
apart from the constant growth rate of 2%. This can be the case 
when the natural increase of the country remains unchanged, 
but 100 million migrants arrive who subsequently have the same 
birth and death rates as the local people here.


